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1. (20%) Consider the circuit shown in Fig. 1, determine the gainv, / vg.
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2. (10%) (a) Compute the value of R that has maximum power transfer to the 1002 resistor in Fig. 2
(10%) (b) Find the maximum power transfer to the 10Q resistor in Fig. 2.
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3. (10%) (a) Determine the ratio v, /ig in the op amp circuit shown in Fig. 3(a).
(10%) (b) Determine the ratio i, /is in the op amp circuit shown in Fig. 3(b)
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4. (20%) Compute the response v(t) and i(t) for >0 of the circuit shown in Fig. 4.
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5. (20%) Find (he Thevenin equivalent circuit at terminals a—& in the circuit of Fig. §.
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